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53863 Seat No. ______

M. L. W. Examination
April / May – 2003

Industrial Organisation & Finance

Time : 3 Hours] [Total Marks : 100

çñÇÞë Ñ ­fÞÕhëÜë_ ­fÞÞù Éõ Þ_Úß ±ëMÝù èùÝ Öõ É Þ_Úß µkëßäèíÜë_ áÂäù.

1 äõÚßÞù V×ëÞíÝÀßHëÞù ìç©ë_Ö çÜ½äù. 20

±×äë

1 ÒÒÞëÞë-ÕëÝëÞë µzùÃÓÓÞí TÝëAÝë Àßù. ÛëßÖÜë_ ÞëÞë-ÕëÝëÞë µzùÃùÞõ 20

ÞÍÖí À´ ÜðAÝ çÜVÝë±ù Èõ ? ±ë çÜVÝë±ù µÀõáäë ÜëËõ ÖÜõ ÀÝë_ ÕÃáë_

çñÇäù Èù ?

2 1991Þí ±úzùìÃÀ ÞíìÖ ±ÃëµÞí ±úzùìÃÀ ÞíìÖ±ù×í À´ ßíÖõ ±áÃ 20

ÕÍõ Èõ ?

±×äë

2 ÞíÇõÞëÜë_×í ÃÜõ Öõ Úõ Õß Ë>_ÀÞùîÔ áÂù Ñ 20

(1) äëèÞ-TÝäèëß ÂÇý

(2) ÕõÏíÞð_ ÀØ, ÜëìáÀí ±Þõ ±_À<å

(3) ±úzùìÃÀ çèÀëßí Ü_Íâí±ù

(4) ±úzùìÃÀ Üë_ØÃí.

3 ÛëßÖÜë_ ³½ßë ±Þõ ±ëì×ýÀ çkëëÞð_ ÀõLÄíÀßHë Àõäí ßíÖõ ×ëÝ Èõ ? ÖÜëßí 20

¼ãWË±õ ±ëì×ýÀ çkëëÞð_ ÀõLÄíÀßHë Éwßí Èõ ? åë ÜëËõ ?

±×äë



3 ÒÒ±ëÕHëë ØõåÜë_ ½èõß ZëõhëÞë_ ±õÀÜù Éõ KÝõÝù×í V×ÕëÝë_ èÖë_ ±Þõ ±ë 20
äæùý ØßìÜÝëÞ ÖõÜHëõ Éõ Îâù ÕõØë ÀÝë* Èõ Öõ ÚõÞí äEÇõ ÜùËí Âë´ Èõ.ÓÓ

� ÇÇùý.

4 ÛëßÖÜë_ ±ëÔðìÞÀ µzùÃùÞë ìäÀëçÞð_ ìÇhë äHëýäù. ÖõÜÞë ìäÀëçÜë_ ìÞÝùÉÞ 20
åã@Ö±õ åù ÛëÃ ÛÉTÝù Èõ ?

±×äë

4 ÛëßÖíÝ ÞëHëëÚ½ßÞí áëZëìHëÀÖë±ù äHëýäù ±Þõ ÛëßÖÜë_ ÖõÞë_ ÜëâÂë_Þí 20
wÕßõÂë ±ëÕù.

5 ±úzùÃíÀßHë ±õËáõ åð_ ? ÛëßÖÞë ìäÀëç µÕß ÖõÞí ±çß ÖÕëçù. 20

±×äë

5 ÛëßÖÜë_ µzùÃùÞð_ TÝäV×ëÕÞ ±Þõ ÞëHëë_ÔíßëHë TÝäV×ë äHëýäù. Ë>_Àë ±Þõ 20
áë_ÚëÃëâëÞë ±úzùìÃÀ ÔíßëHëÞë �ëùÖùÞù åù Îëâù Èõ ? Àù´ ÕHë Úõ ÞëHëëÀíÝ

ç_V×ë±ùÞë ÎëâëÞí ìäÃÖäëß ÇÇëý Àßù.

ENGLISH VERSION

Instruction : Write clearly the question number against your
answer.

1 Explain Weber's theory of location. 20

OR

1 Define small scale industry ? What are the major 20
problems faced by the small scale industries in India ?
What measures do you suggest to solve these problems ?
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2 How does 1991 industrial policy differ from the earlier 20
industrial policies ?

OR

2 Write short notes on any two : 20
(1) Transport cost
(2) Size ownership and control of firm
(3) Industrial co-operatives
(4) Industrial sickness.

3 How do monopoly and concentration of economic power 20
take place in India ? Is the concentration of economic power
necessary ? Why ?

OR

3 “There is a large gap between the objectives with which 20
public sectors were established in our country and the fruits
they have produced over the years" –Discuss.

4 Describe the growth of modern industry in India. What 20
role has entrepreneurship played in it development ?

OR

4 Describe the characteristics of Indian Money Market 20
and give an outline of its structure in India.

5 What is Industrialization ? Desribe its impact on development
of a country.

OR

5 Describe the organisation and financing of industries in India.
What is the role of long term and short term sources of industrial
finance. Discuss the role of any two financial institutions in
detail.

______________
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